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Homework
Remaining parts of Ex 1.4
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Therefore LHS=RH.S

AB = BA
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Qé.

For the matrices

Verify that

(1) (AB)! = B A!

(i) (BC)' = C'B!
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)  (AB)=BA!
Solution:

LHS

(AB)!

(;1 g]x[—l3 —25])’
“1x143x(=3) -1x2+3x27),
([Zx(73)+ux(73) 2x2+ux(75))
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From (i) and (i), it is proved that LH.S = RH.S

(AB)! = Bt A
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Exercise 1.4

Q1. Which of the following product of matrices is conformable for
multiplication?

o [ I o I8 3
CEAM w [0 An e 3

w [ —1][ l

Solution:
Two matrices are conformable for multiplication if the numbers of
columns of first matrix are equal to number of rows of second matrix.

So, according to the definition:
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(i)

(i)

@v)

(0]

is conformable for multiplication (because the first matrix has two
columns and second matrix has same number of rows).

is conformable for multiplication (because the first matrix has two

columns and second matrix has same number of rows).

is not conformabile for multiplication (because the first matrix has just

one column and second matrix has two rows).

is conformable for multiplication (because the first matrix has just two

columns and second matrix has the same number of rows).

is conformable for multiplication (because the first matrix has three

columns and second matrix has same number of rows).
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Q2 wa=[3 9 s=[9

find (i) AB (i) BA

(if possible)

Solution:

M AB

[1 2] [5]

3x6+0x5
(1) X6+2x5]

[1B+D
—6+ 10

(7]

so. A8 = [
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Q3.

M

(i)

W)

BA
BA is not possible (because number of columns of B is

Not equal to number of rows of A)

Find the following products
i 2f] [CETET A
-3 olff] ™ 6 -0l

1 2
-3 0

6 -1

(HA o 2Ifg]
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Solution:

o
So, 1
[OJES
So. [t

2]

2]

2]

2]

4]
ol
[1x4+2x0]
[4+0]

(41

=14

W

[1x5+2x (-4)]
[5-8]

[-3]

3t
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@s. Leta=[}' 3] b= i

Verify whether
() AB=BA () A(BC)=(AB)C
(i) A (B+C)=AB+AC (iv) A(B-C)=AB-AC

Solution:
() AB=BA

LHS = AB




